fréﬂﬁtnii

HE= F+—_A=+—HIFE
“BERE _—TTHF
B 7 BETT BT T
X 718,909 874,629
$HE KA (694,855) (832,005)
EH 24,054 42,624
H b g A 14,565 5,562
5 85 pK A (408) (720)
TIE R (31,786) (25,555)
Mz -BELRSE TELESERRFAZ BREBE 6 (112,242) =
& (FE) = 7 (105,817) 21,911
ARAFAZHEECRITEEZFE (8,619) (10,271)
Fiar (B 1) & F (114,436) 11,640
Fr8 B A (2 i) 10 1,597 (3,414)
AEE (BE) &F (112,839) 8,226
FEfR 5
RAFRERE A (73,362) 3,585
LEHR R ER (39,477) 4,641
(112,839) 8,226
%/%\ 11 - -
i (BHE) &F (1) 12 (10.68) 0.52

EHER (ER) ARAT

22



